 H E X E
—=— AN e 28 HITH
Q =EUTE 2017. 1. 19(%) I § ORI R
H] Z YA . L
Z 6mj (3, &43)
=Z el N T o} A 7 o]ﬂ- AT 573%\‘, T o]gA
gy AR A 040)001-3336
J-?_}\-] T EZE I o} 'j’]'ZO]— % O'F, /\]"'l‘?__ 71':]!£l:?15:]__/ '?‘l:l":’_ Ool:EHE'_.
SETHETHN | F A n 0440014542
g S o Al 201749 18 20¥(=) =2HRE B5=5t0 FA|J| biELlch
- = ¥ SHMYUSOIHYUZ2 1. 19(8) 11:00 0| 25 Jts
179 28 ~’1749 48 M= OHIIE 79,068MIH &= OIA

SH=0f| H=
Xzt o= (j|d OHILE 4%}
20174 2@~20174 48

| &= 2i==04E OHIE & 79,068 AICH

Eﬂ 27;4 Mich S

Ne 115?2-;1@

2 1061 Ml
2iFE: @7| 13,907, J\ﬂtﬁ
: 743 Jd[t;{
iz ma
= '-"fﬁ#i_:-:'_a'-%f-s,’ea;ﬂ;q; v
H5917 M 7
' @ ‘a‘ 9 292 ).ﬂ qq

i N— : $ﬂ%*f73?5 k“[“
BEHLREA312ME]

|2 S5 (x2)

85m? o[st 549 4 89.7%
\ cowole 21,760451

Sn o A

\ 0-esw 49,1524

=
| K| - 2 S2F oy
W 42
S HE =en
o Ay .
16,948 =
" 21:531
13,432 == 13,110
8010 ks = 7,865 %% 6,182




[] EILEJJ— (]'jﬂ’ ARl Oﬂ
SEDEE BN 35S

79,0684t (‘172 ~ 1749Y, =

w2,

AAF716. UW]\‘H)

]j ~—

%3t EF ET:‘B’
(e} U

o ¥

‘172958 "17.4L 7R (371271
35.5%

Z71%

=2 AAEHN N,

o AYHZ = ST 274794t (AL 135724 3,

A%} 51,5894t 7}

27t 4Fse How =AU
< A 9E - g olutE AFHE=ZAMMY) >
T = 2 A 1728 '17.3¥ 1748
M = 79,068 30,380 20,975 27,713
TE3A 27,479 13,432 7,865 6,182
(MZ2) 13,572 8,019 2,338 3,215
A| gt 51,589 16,948 13,110 21,531
« SSAIRALRL FERIES| o] 2olg AXY FAlet A=, JHE AtFZEel Atdol wat
AFAI7| - B So| Y& WA & U
O A% AFEFL BH,

o FEHS

17298 A-&715(3,65841H), TR ZA](1,07841HH)

s 13432AH,

17.3¥ A=A T 9104 ), P Ak,2224 ) 57,8654 T,
R

1749 A =PF1,1944 ), A=

P oo,

=
o

YA
s ol

o AHrS 17.2¢€ AP 31,9344 ), oFER

"17.3€ A S A (2,240 ),
“17.4€ A5 A (6,80941TH),

3 &)

A

YFY PO =AHUL

< 2|S—'(-?— xlOdl:H

(1,308 th)
Z 51,0594 ) 5 13,1104,
GAHEF(1,7684 ) & 21,5314t 7}

HRD ofTE YFOIMBEY >

(1,72241th) 5 6,182 T 7}

T 16,948A4,

T& X o™ (M=)
q7q | BB st S EH2(652), F 4 £H1,934)
oel |ojo} A152-J%(3658) 1235 2(2,415), 6_ _'.:_AI(1,O78)
T 7| s EEH(1,265), OoftHEI A (1,184), OHMEE(1,308), B E YR (1,147)
4744 33 | M S0t 3(148)
qel | oy | MEMUE01,910), sHEBIAH1222), shdEFE(1,387),
T | MBAIR,240), EE=T(1,059), HH 2FE(995)
q7q | BB CH T2 Ell 2 1=(1,020)
42 | ooy | ME0FR0,194), M2SSE(1722), HEFH(1,142),
T M= S(1,132), MEBAI6,809), itEF(1,768), EH 2 (1,665)

-2 -



(] 8 #EE2Z= 60m'o]3d) 21,760A1H, 60~85m’ 49,1524 ), 85m’
23} 8,156MtH=, 85m'olsl FAFFH o] HAS 89.7%E XA
ol 24879 YFEFO] B A0E EAHYL.

o FAMES WX 74733M W, FF 43BAUNE 7H7F AT

i

< 724 - FAHY olmtE AFofHEHAMC) >
oy 77|
T =2 st A - -
60m: 0|3} | 60~85m" | 85m = 1} =23 ol 2zt

M o= 79068 | 21,760 | 49,152 8,156 4,335 | 74,733
= 27 479 8,913 14,366 4,200 1,381 26,098

(M 13,572 5,780 6,597 1,195 521 13,051
x| g 51,589 12,847 34,786 3,956 2,954 48635
[E<4] "172€ ~ 717492 JFdH olHE A A&
OPEN . e e

332 ZIXAE XIR0ISHE




17.2&8 ~ 1748 =08 OHLE BX &

EEEIEER Chx| stAl  |e0mo|5t| 60-85m* [85m: E 1}
M= s 30,380 9,242 18844| 2,294

S A7 13432 4781| 7223] 1,428

Mg |[ZE7 T4 = Do go|otal AHOIE 3658 1,074 2,105 479
Mg |[ZEF olotE Bols OIS 615 205 386 24
M2 [ceF HAE M2 =HA A9 326 97 215 14
M2 |otZ 3 ofsl £ ofdotolut3 497 206 205 86
M2 |egF ZEE M3 2 FE2 A3 7 146 146 0 0
Me 227 "= M2 A3 ZX0[2342E) 2415] 1,018 1,167 230
Mg [Me7tat =3 362 362 0 0
OIH [l XMAIAL 122 o oLy 208 208 0 0
A7 |ZZA ol E SHAA T Al BEE R E 2} 3%} Ab-17 662 383 279 0
A7 |2 EA 2285 SHUA T A Bc-08 3HIFE CH2fA 232 0 232 0
A7 |2 EA 2285 SHZUAETA Bc-09 3HE CH2fA 184 184 0 0
A7 [8A 9EF olo/E ZWATAl Bl Zmut3xo| 268 0 121 147
Ao [FeAl dET olols ZmMAIT Al B3 o™ SHA|AF 317 0 128 189
Ao [FeAl dETF olo|s ZMAIT Al B4 o™ SHAAF 259 0 0 259
A7 [ABAl ZHE A S22 SH 202 B4 580 0 580 0
A7 ["F ZAabd g ofg Foidl 2kt 487 228 259 0
A7| | A Hol7 ZZEET FH O E(ZAH) 299 299 0 0
47| [3MA Betg ofe| EE MEHF=X|2 1,265 371 894 0
47| |3 EER A40 104 Tl 652 0 652 0
NEE 16948 4461 11621 866

BEA[ZMT HXES WX ZHAEXTF SHH 2C]2 B6 694 0 694 0
BA S 2XME BA S 2ot 9% 16 80 0
BA[EMRT Bots BA M EAuf3 AL E 2} 243 101 142 0
BA[HAN T dAE EAF C{AF AIE[OfH|F2 216 62 154 0
BA[EAE D A1 Zolel) 1,358] 1,358 0 0
28 | B [EAEZ A1 FFAT 576 576 0 0
|22 FXH Stz Bt R E 2l ofold|ot3 813 0 813 0
H |[2A 2 HEH fFEHI-E2A A3 A E0/2tF 870 0 870 0
ZE (2T 2AE RAE o ETIE2(EAIE) 70 70 0 0
Z4x (U437 MS 280-6 GRoctS 310 0 310 0
ZE (M dE otde|g 2HH| 686 0 686 0
SAETF UALE S4F AALES kAL 449 0 449 0
MZE [E2tE 32823 MZE EG thel LT 649 0 279 370
22l |32 sEg Algel 3 A ofzel2 145 145 0 0
SE [HFA AT QFS HM2AFICHX| COf 21 ZHEFY 592 0 592 0
S MAA] o M S eHBIM AN A of A 936 479 457 0
S [oRMAl Ex M M F2| ofMEIZ =W E| Aa2 EG thel 534 0 534 0
S [oRMAl Ex M M F2| ofMEIZ =W E| Aal EG thel 650 0 650 0
St [ofpA] 2EE o2 E L0 22 1EHK] 792 292 460 40
S [ofMA| BEE ofpRE Jf20{ 22! 3HX]| 516 98 374 44
= [ofMA] BiEtS 22| ofAtujEl bfo| R = 426 389 37 0
S [HoA MEF SHE Z2IX|2 9XHTAIH) 299 299 0 0
S [HotAl MET ECHE ofAMEH A6 SHHH 202 705 0 354 351
My | Aesd Hesg5 ANz Sode g 44 0 44 0
M [ JEg e IE H2 s of 47 0 47 0
AE [HAA AIFRE ZdAe] Z2|d|of 110 76 34 0
A2 |[AHA OIS OH B FEZA 1,147 48| 1,076 23
45 [23F s ATe EZ sttXtel 299 0 299 0
4 (23 HT Mg 24| xE 2o M2 ch2 382 0 382 0
At [AMAl ofFE Al ofF KCCALA 494 115 341 33
At [FAMA] HAE FAF HAF ABE AFEEA| 450 270 180 0
A [HeAl o/&F 2 ZHA2] 2B-9L A FEX| 583 67 516 0
A [HeAl sl 7 A2E X223 Bl E3SEHA 767 0 767 0

_4_



M= g 20,975 4812] 13,003| 3,160

Sz A 7865 2,164 3237 2464

M2 |AMUET Sotsls et A ME 1,910 823 1,043 44
Me |8a7 sHtE BHet ofo| o3 (T AIH) 280 270 0 10
Me |opH 3chx| 3= Fe 148 148 0 0
Ol |[HET A E 316-3HX| ME EOIXPEI of 255 255 0 0
olM (=T =8 = o|oh 2f2mo|of 5t 298 0 0 298
47| [FelAl ZoiE Pz dufgl a|x|°_+(5A|§g> 206 206 0 0
Z7| |[GeFA Y S oy sMej2lE ZE B 307 0 307 0
27| [FeAl Bt £ E $gl offadl 9= 798 160 468 170
A7 [ 8oAl X ME2E 2ol5x| M2 oflold]|E 66 0 40 26
27| [82Al £X|F MEE sHfRiol HZIZI(TAH) 294 0 294 0
A7 |sleA| S4ts sheto|AF A21 O|ALZE M E & X|O| 1,222 0 0 1,222
A7 [stAl tetE 92 Al T A| A3-6b AlQkolAnl 694 0 0 694
A7 [3tMA| B E eE BHAIAF S 1,387 302| 1,085 0
NS 13,110| 2648 9,766 696

Sk [se) 7 JolE 288-299 = A5 00| % 84 56 28 0
SAREART HHE MEDS gA A2 Al o 630 474 156 0
HABEMRT HHE o|=malA 5 H(TAH) 101 101 0 0
BABAMZRTZ BME RMMEH TKEE 40 40 0 0
HABMRT SME Xl Zxma|A(olDE) 85 85 0 0
HARAZRT obME bRl FXWa|A(TAH) 102 102 0 0
BA o gl2tE MEH| A S8 2%} 405 0 405 0
T (28T SEZM 7S Z o|F|AY C-2 474 0 474 0
T (M7 "gels o7 "els galgA2%t 42 3 39 0
L3 |27 BEE UFLAA HAESHA 50 2 48 0
4F BT B8535 253 olefstolZeia 64 64 0 0
4 |27 Z3E 43 alf 25022 960 196 764 0
ST MElE YEAst SMEf2IE Z 0ol A {EHX| 245 0 245 0
SA B2 MelE ZdEMst sMeEIE Z o] A 28HK]| 245 0 245 0
S4H[ET BFRE 2X|H0|E 2|B Aol = 34 0 34 0
MZE [EEs 14M83 NZB stz gEal HY 580 0 580 0
MZ [22tE 328 MZE S5SZaA of ZAE 900 0 632 268
MZE [2Es 3-3MEA MZE staksxtel (2 760 554 206 0
Zel [ZEA FEAS F22| 2lUdZTRE|A 4XHZAIH) 266 266 0 0
Z2 (7 MF e S8 2A X|etA Zotol 156 82 74 0
Zi:t [olAA] 2XHE 2HME 0|4AX 2 586 336 250 0
Zu (Mo MET SHE cHEHMA F& 34 992 154 838 0
Zut (Mot MET ECtE MoHECH SHhH 202 1-C4 573 0 287 286
Mt |[2ZAl ARME 1982 MEZII2E 265 0 265 0
Met | 2ot Atskg dtotz| 2317 etz 3] of =7t 116 0 116 0
Mt [28A HME FAEE Zao|A 52 0 52 0
ZE [zgAl 47 XS E2id|otEt o X|Z(TA|E) 172 0 172 0
AE |8 27 >dE A7 E2|Ud 1,059 o| 1,059 0
Zet [ HHA 2HE AH IPARK 995 0 988 7
At [ZslAl BEE 225t M3 AEIEA 682 0 682 0
AL |[ZdajAl AES ofefel HMFE AY 534 0 534 0
At |ZA oM EE AsH AStstud 2K 122 122 0 0
ME|MAZA ZHE MFLH 422 S35 499 0 364 135
HMZE [HZFEA £215 17519 ot=o|ototoE 56 0 56 0
M [HMZFAl 220l = & 2 X otste 84 0 84 0
HME[HMFA dE0lE HMF AT H23dA 62 11 51 0
HME[HZFAl 2515 440-6 Cf 2|~ 3% 38 0 38 0




= A 27,713 7,706| 17,305| 2,702

TodH oA 6,182 1,968 3,906 308

M S OtFEA Y S AHOE OFAH 1,194 393 801 0

MU ZT HI7t2S & 2ADMC dIHEAY) 288 288 0 0
Az MZS 2fofet ol 2AE[F 1,722 739 675 308
TRA HEY =LA 11 11 0 0
Ak ALhS 305-3 ALEO|LA 57 48 9 0
HEAN 2245 st EA SHUFOE A Be-11 157 0 157 0
HEAN 225 A EA SHUFOEEIA Be-12 351 0 351 0
HYFA sds HYF gllsge KCCAa9H 333 120 213 0

Al SAl AlSHf 2 A=Al B3 EG thet 840 0 840 0
ANEA MBS AlS=5H B8 et FHE2IA 693 0 693 0
E2Al 7|57 AES 71-31 2lH2| Z(EAY) 171 171 0 0
E2A| FX 7 MEE SEMERZ(EAY) 168 168 0 0
O|MAl AlEH =35l2| ol AE FHotF 197 30 167 0

A A 21,531 5,738| 13,399 2,394

7|32 gt w=e] 407 JHEebARS O E|2tA 431 0 379 52
FMF FS = e de g 102 39 62 1
Atst=t I H S IDS ot S (Al ) 264 264 0 0
Atst7t EHels "2ls 25 olglad 279 0 279 0
eI =ZE2A A7 H=FE 1,020 1,020 0 0

M+ B H 5P%!(_'.:_A|§§) 98 98 0 0
#dT XS 24 osl2eEaolx 1,142 499 643 0
#dT SES 640 5 LIO|AEFR 12AHEAIE) 84 84 0 0
AT 55 S3XT HEZEE A2 1,132 0] 1,132 0
#dT XES 1052 JFoct= 615 0 615 0

ST Asts SUHLSUSHX T AHOIE TS 696 0 696 0
MES 22483 ME Hif dAHO0E M3 1,027 667 219 141
MES 22483 ME i dAEHO0E M4 445 0 149 296
MES 22483 ME Ha dAHOE M5 222 0 0 222
MEs 22423 MSEAl ool MAEl |2 696 593 103 0
MES 22883 MEAl ool XAEl L3 393 0 148 245
Mas 2-2ded MEA ool MAEl M6 1,077 0 660 417
MaS 2-2detd MEA ool MAEl M7 1,005 561 280 164
MES 22883 a2 2|ol M1 1,267 0 714 553
MES 22823 a2 a|ol L1 677 0 510 167

[ &HA olES oA OfE My A 418 0 418 0
Y | EZA ZSS £X o0& otEER[F 232 89 143 0
s |STA TS F 24U = oo[x| 423 423 0 0
S [ MUAL HehE MATHMX T SR 5 A 780 533 247 0
ME | LA =&2S 4 MERH O AEHF 480 0 480 0
HE | A A7l & FotF MU} 437 0 437 0
e | LA S &2 SoRxt Tota| x| 616 0 616 0
e LAl Hotets ZdFdEsd EG thel B3-1 293 0 293 0
5 | ZUA stYE SA 2] 5t FotF 2%} 441 0 441 0
Z5 | LA M S 1496-1 dESE2 A9 E 74 0 74 0
g [ AMA 455 o3 ot sty 62 0 62 0
4 | HAA HEE HA 28 72 -=290l% 346 0 344 2
4 |dollAl FAS doll EHHEL? 1K 521 351 170 0
4 | dollAl FAS doll HHHELS 2EHK] 303 260 43 0
4 | dMA 255 dEF 39 EG thel 2 1,768 0| 1,768 0
Ze | YA o 5H ZA ZAHOIE 4% 1,665 257 1,274 134




